Management of the various types of degradable and nondegradable waste

As a part of degradable and non degradable waste management, different colors of dustbins are being used in the institution. The details of the bills are provided in the following table.

Details of bills for the purchase of equipments related to Degradable and Non Degradable Waste Management

S.No.	Particulars	Page No.
1.	Dust bins	2
2.	Tax Invoice for Drums	3-5

ax Invoice for the purchase of Dustbins

Bhaskar Plastics

Bowdara Road Ni PoomaMarket, Visakhapatnani Ph:08912569599 GST:37ADQPM0842D1ZK

CASH BILL

Cuscomer :VIJNAN DUVVADA

Bill No: 13512Date: 22-11-2021 Time: 12:30

Qty Rate Total Description Sm 24 11.4 273.6 1 moping/kitchenc

Total : 273.60

273.60 Net Amt:

GST SUMMARY:

SGST CGST Declaration Taxable 6.52 6.52 260.57 GS 6.52 260.57

items: 1

Counter: USER

TERMS & CONDITIONS WE HOPE TO SEE YOU AGAIN* E & O E AUTHORISED SIGNATORY

Bauskin castics

Serve lata the of

No conaMarket, Visach ip *nam

Ph.1 199

CASH BILL

Customer: VIJNAN DUVVADA

Bill No. 135100ate: 22-11-2021 Time: 12:30

511		Qty	Rate	Total
1	dust bin /dost bin het	80	57	4561
2	Bucket/Tubs/basins	10	76	760
3	SWING BIN	12	390	360
1	MUGS	10	28.5	285
		Tot		205.0

Net Amt: 9205

JST SUMMARY: Declaration Taxable CGST SGST 618 7800.86 702.09 702.09

7800.86 702.09 702.09

Items: 4 112

Counter: USER

TERMS & CONDINE



PRINCIPAL Vignan's Institute of . Engineering for Women K.J.Peta, VSEZ (P.O.). Visakhapatnam-49.

Puspace: Lignum View

[] [2]	instirs	D4.	Loon _
Six is Southers			8
1 100 1 1/1 14 P	ord, Visable	(b.drian)	
- 1 (2001) (1) Holfs	99		
Same Parent Ma	181.1 191.1 71		
00000000	1 6 76	. 44	10 Car 15 C
	CAS	HBTLI.	
	ne Davi	ADA	
Fig. 10. 11. Fig. 2	web . 09/	05/2022 (ime (Mini
	211	1714	Raic Latal
Herry	To the	Mile	610 712.1.C
	No.	A Hat	△ _{71.0 m} * 7320.00
der U. Markey		· at	7.320.00
1-1-1-12-12-1		. 3- CGST	
(i.i.)		5385	
	· · · · · · · · · · · · · · · · · · ·		å n _a
Pusque:	Wigy	rum U	Cu
HACKOR	o wou	ada	,,



Plastics

menthinsel, Visible quetrain

10891.7559599

CASH BILL

CONGRESSION ON THE PROPERTY OF THE PROPERTY OF

to no Cara Detr. 09/05/2022 time : 11:01

Quy Rate futal

ble Second Scri

- 103.39

558.31 556.31

620 (39

558.31 558.31

Henry 1

conter : II 2

I. RMS & COUPTIONS FOR HOPE TO SOU AGAIN E & 2

CORISED SIGNATORY

Vignan's Institute of Engineering for Women K.J.Peta, VSEZ (P.O.), Visakhapatnam-49.



VIPT

VSC.P

Form-101: PROCUREMENT FORM

Solid & E warte Mangement Purpose:

Date

:28 04 2022

Department: - Admin (Store)

Date of requirement

:03 05 2022

Name and designation of Person: Mr. K. Jyothisk

SI.No	Name of item	Quantity	Brand Name if required	Estimated cost per unit	Total estimated cost	Remark
2)	Garagen Solt	05	SELECTION	800	4000	
2)	Ol July Salt	205		800	4000	
1	Blue duthin solt Geneen duthin solt Red duthin solt (exart)	02		800	1600	-
A = 14-24 F	(Count)				100	ik w
DE LE						
		1 - XII - V				
			M = 5,000			112
17.5						
hrys			per err			
		2 2 A A				La pikedi La pikedi
				2000-1-4		
				19-12		Volume of
	A COLUMN TO THE PROPERTY OF THE PARTY OF THE					
10000				00	00-as +GST	- L. W

Dean-Infra



Vignan's Institute of Engineering for Women K.J.Peta, VSEZ (P.O.), Visakhapatnam-49.

THE RESERVE THE PERSON NAMED IN COLUMN TWO		THE RESERVE OF THE PARTY OF THE	CONTRACTOR STORY	NAME AND ADDRESS OF THE OWNER, WHEN	WILL SHOW	-	MARKET SELECTION	STATE OF THE PERSON NAMED IN	AND ADDRESS OF THE PARTY OF THE	TOTAL VIEW TO A STATE OF THE PARTY OF THE PA
	VIC	MAN			SAK	(HAPAT	NAM			UTIONS 1518
Cost Centre	9	MECO						1 - 1	Date 6	05 2022
Mode of Pu	rchse	Cridet		Goods	Rec	eived by	Ne	AC 1	Dunne	
Purchase Order No.	3528	GRN No.	1518		Nam Supp	e of the l	- 1	naoko	f	lics
S. No.	Descrip	tion of Mater	ial	Quantii Numbe		Rate	Total \ Rs.	Value Ps.	Excess Shotage	Remarks
,) E)JULLY	ns	18 J. 5 B	12		610	732	٥		
				2 n		*	1		Sec.	11 3 .9
							732	0:00		

Checked by

PRINCIPAL
Vignan's Institute of
Engineering for Women
K.J.Peta, VSEZ (P.O.),
Visakhapatnam-49.

Approved by